

Olunrewaju Temitope Charles

181 ENG 041083

ENG 381

Question 4

$$\textcircled{1} \quad x(x-1)y'' + \cancel{3x} (3x-1)y' + y = 0$$

$u^n = y^{n+2}$ w_1

$$\left. \begin{aligned} u^n &= y^{n+2} & V &= x(x-1) \\ u^n &= y^{n+2} & V &= x^2 - x \\ u^{n-1} &= y^{n+1} & V' &= 2x - 1 \\ u^{n-2} &= y^n & V'' &= 2 \end{aligned} \right\} w_1$$

$$\left. \begin{aligned} u^n &= y^{n+1} & V &= 3x - 1 \\ u^{n-1} &= y^n & V' &= 3 \end{aligned} \right\} w_2$$

$$\left. \begin{aligned} u^n &= y^n & V &= 1 \\ u^{n-1} &= 0 & V' &= 0 \end{aligned} \right\} w_3$$

$$\begin{aligned} & u^n V + n u^{n-1} V' + \frac{n(n-1)u^{n-2}V''}{2!} + \frac{n(n-1)(n-2)u^{n-3}V'''}{3!} \\ &= y^{n+2}(x^2-x) + n(y^{n+1})(2x-1) + \frac{n(n-1)y^n}{2!} + \frac{(y^{n+1})(3x-1)}{3!} + n y^n + y^n = 0 \\ &= y^{n+2}(x^2-x) + n(y^{n+1})(2x-1) + n(n-1)y^n + (y^{n+1})(3x-1) + n y^n + y^n = 0 \\ & y^{n+2}(x^2-x) + y^{n+1}(2nx - n + 3x - 1) + y^n(3n + n^2 - n + 1) = 0 \\ & y^{n+2}(x^2-x) + y^{n+1}(2nx - n + 3x - 1) + y^n(2n + n^2 - 1) = 0 \end{aligned}$$

When $x=0$

$$y^{n+2}(0^2-0) + y^{n+1}(3(0)-1+2(0)n-n) + y^n(2n+1+n^2) = 0$$

$$y^{n+1}(-1-n) + y^n(2n+1+n^2) = 0$$

$$-y^{n+1}(n+1) + y^n(2n+1+n^2) = 0$$

$$y^{n+1}(n+1) = y^n(2n+1+n^2) = 0$$

$$y^{n+1}(n+1) = y^n(n+1)(n+1)$$

$$y^{n+1} = \frac{y^n(n+1)(n+1)}{n+1}$$

$$y^{n+1} = y^n(n+1)$$

when $n=0$

$$(y^{n+1})|_0 = y^n(n+1)|_0$$

$$y^1 = y^0$$

When $n=1$

$$y^{(2)} = 2y^{(1)} = 2y^{(0)}$$

When $n=2$

$$y^{(3)} = 3y^{(2)} = 3(2)y^{(0)} = 6y^{(0)}$$

When $n=3$

$$y^{(4)} = 4y^{(3)} = 24y^{(0)}$$

When $n=4$

$$y^{(5)} = 5y^{(4)} = 120y^{(0)}$$

$n=5$

$$y^{(6)} = 6y^{(5)} = 720y^{(0)}$$

$$n = 6$$

$$y^{(n)} = 7y^{(6)} = 7 \times 720 (y^0) = 5040 y^0.$$

When

$$y = 0.0005 \text{ m} \quad y' = 0.0005$$

at $x = 0$

$$y''(x^2 - x) + y'(3x - 1) + y = 0$$

$$y''(0^2 - 0) + 0.0005(3(0) - 1) + 0.0005 \text{ m} = 0$$

$$0 + 0.0005(0 - 1) + 0.0005 \text{ m} = 0$$

$$-0.0005 + 0.0005 \text{ m} = 0$$

$$m = \frac{0.0005}{0.0005}$$

$$m = 1$$

$$y = 0.0005(1) = 0.0005$$

$$y^0 = 0.0005$$

$$y^1 = 0.0005$$

$$y^2 = 2y^{(1)} = 2y^0 = 2 \times 0.0005 = 0.001$$

$$y^3 = 3y^{(2)} = 3 \times 0.001 = 0.003$$

$$y^4 = 4 \times 0.003 = 0.012$$

$$y^5 = 5y^4 = 5 \times 0.012 = 0.06$$

$$y^6 = 6 \times y^5 = 6 \times 0.06 = 0.36$$

$$y^7 = 7 \times y^6 = 7 \times 0.36 = \underline{2.52}$$

using Maclaurin's series

$$y = y(0) + x(y'(0)) + \frac{x^2}{2!} y''(0) + \frac{x^3}{3!} y'''(0) + \frac{x^4}{4!} y^{(4)}(0)$$

$$y = 0.0005 + 0.0005(x) + \frac{0.001(x^2)}{2!} + \frac{0.003x^3}{3!} + \frac{0.012(x^4)}{4!} + \frac{0.06(x^5)}{5!} + \frac{0.36(x^6)}{6!} + \frac{2.52x^7}{7!}$$

$$y = 0.0005[x^0 + x^1 + x^2 + x^3 + x^4 + x^5 + x^6 + x^7]$$

(b) Approximate deformation

when $x = 5$

$$y = 0.0005 + 0.0005(5) + \frac{0.001(5)^2}{2!} + \frac{0.003(5)^3}{3!} + \frac{0.012(5)^4}{4!}$$

$$+ \frac{0.06(5)^5}{5!} + \frac{0.36(5)^6}{6!} + \frac{2.52(5)^7}{7!}$$

$$y = 48.828 \approx \underline{\underline{48.83}}$$

when $x = 8$

$$y = 0.0005 + 0.0005(8) + \frac{0.001(8)^2}{2!} + \frac{0.003(8)^3}{3!} + \frac{0.012(8)^4}{4!}$$

$$+ \frac{0.06(8)^5}{5!} + \frac{0.36(8)^6}{6!} + \frac{2.52(8)^7}{7!}$$

$$y = 0.0005 + 0.004 + 0.032 + 0.256 + 2.045 + 16.384 + 131.072 + 1048.57 = \underline{\underline{1198.37}}$$

at $x = 10$

$$y = 0.0005 + 0.0005(10) + \frac{0.001(10)^2}{2!} + \frac{0.003(10)^3}{3!} + \frac{0.012(10)^4}{4!}$$

$$+ \frac{0.06(10)^5}{5!} + \frac{0.36(10)^6}{6!} + \frac{2.52(10)^7}{7!}$$

$$y = 0.0005 + 0.005 + 0.05 + 0.5 + 5 + 50 + 500 + 5000$$

$$y = \underline{\underline{5555.56}}$$

$$\text{When } x=5 \quad y = 48.83$$

$$x=8 \quad y = 1198.37$$

$$x=10 \quad y = 5555.56$$

MATLAB CODE

Command window

clear

clc

close all

`> syms x, y`

`x = 0:1:10`

`y = 0.0005 * [(x^0) + (x^1) + (x^2) + (x^3) + (x^4) + (x^5) + (x^6) + (x^7)]`

`plot(x, y)`

`xlabel('x')`

`ylabel('y')`